Swivel & Clamp Pneumatic Cylinders

T2} Products Content

N ¥
3

- OF ]AS4 Lever Clamp Cylinders \ @25~@63 e P.232
¥

NAS2 New Swivel &

. T S P.235
Clamp Cylinders p25m263

Single Side Swivel Clamp (Direction)

rotate stroke

Double Side Swivel Swivel Clamp-

Clamp (Direction Locking/ Release Method
| Release Direction

Wrench Fixed

Pressure Plate E

Locking Direction

i 90°R

(rotate left) \»7 \Ei/ V (rotate right)

press stroke

\

| 2 |
© Bore Screw Size |Locking Force(N - M)
12,16 M4x0.7 1.4~2.6
@ 20~40 | M6X1.0 9.0~12.0
50 M8x1.25 11.4~22.4
63 M10x1.25 25~44.9

231



JFC AS4 Lever Clamp Cylinders

AS4 Lever clamp cylinders

« Uses a standard compact cylinder and is equipped with
a lever mechanism to clamp the workpiece in a straight
line without any axial angle.

«  Magnetic sensor can be installed.

Air
Preparation
(G

(@)ge 1 |alel[foldle}a) @ AS4 || SD || 40 | Txn |

‘ ‘ ‘ ‘ ‘ Pneumatic
Valves
. Installation Magnetic Magnetic
Series Type Bore Sensor Sensor Series
Lever Sb:. 25:25mm | |Blank: No Sensor Blank: No Sensor Pneumatic
Clamp Basic Cylinders
Cylinders 32:32mm | |1: 2 outgoing Lines, | | JFS-02
EB: 40:40mm Standard Line Is 2 M
Rear Flange

50:50mm ||PPrP
3 Outgoing Lines,

63:63mm | |Standard Line Is 2 M Pneumatic
Connectors

N:Npn
3 Outgoing Lines,
Standard Line Is 2 M

N: Qty

*The Order With G
Mark ButNo T X N
Mark Indicates That
Only Induction
Magnet Is Attached
Without Magnetic
Sensor

A blank = Indicates standard, no need to specify when order

Pneumatic

Accessories

Parts Order Indication

AS4 | SD | 40 | PristonRod Bore (mm) 25 \ 32 \ 40 \ 50 \ 63
‘ ‘ ‘ ‘ Fluid Filter Compressed Air
Series Type Bore Part Name Working Pressure Area (kgf/cm?)| 0.5~9.9
‘ Clamping Method Up And Down
Refer to internal Type Double Acting
structure and
part name Swivel Angle 0°

stroke (mm) 20 | 20 | 25 | 30 | 35

232



JFC AS4 Lever Clamp Cylinders

Clamping Force

F :clamp force (kgf)
F :cylinder theoretical force (kgf)

L1 :distance between output force fxL1
& Support (mm) F= | 2

L12 : distance between clamping
Force & support (mm)

Theoretical Output Table

units:kg
Bore | Shat Piston Theoretical Force (kgf) ‘ Clamp Force (kgf)
(mm) Diameter| Pressure Working Pressure Area (kgf/cm?)
(mm) |Arealem?) 3T T 5 1 6 | 7 | 8 | 3 | 4] 5] 6] 78
25 10 4.9 147 | 196 | 245 | 294 | 343 | 39.2 | 54 71 8.9 |10.7 | 125 | 14.2
32 12 8.0 243 | 32,5 | 40.6 | 48.7 | 56.8 | 64.9 | 111 | 14.8 | 18.7 | 22.4 | 26.1 | 29.8
40 16 12.6 38.4 | 504 | 63.6 | 75.6 | 88.8 |[100.8| 21.4 | 28.4 | 355 | 42.7 | 49.8 | 56.9
50 20 19.6 594 | 784 | 98.6 |117.6 |137.8|/156.8 | 37.5 50 62.5 75 87.6 | 100
63 20 31.2 93.4 | 46.8 | 156 |187.2|1218.3|/249.5| 87.8 |116.9|146.2|175.5|204.8|233.9
units:g
25 32 40 50 63
SD: Basic 360 600 850 1550 2100
FB: Rear Flange 400 640 890 1600 2600
Internal Structure And Parts Name
@
ltem| Part Name Qty | Item | Part Name Qty
@ | Platen 1 ) | piston seal 1 @
(@ | connector Fix Pin 2 @ | csnapRing 2
® Connector 2 @ Head Cover 1 @
@ | Rod FixPin 1 Back Piston 1 4
(®) | Rod cover Seal 1 @® | Front Piston 1 @_ O
(® | Rod cover 1 Body 1 9 @
@ | covero-Ring 2 @ | Rod 1 @ —( :)
Cushion Gasket 2 Round Head Screw 2 @
©® Rod Cover Seal 1 Connector Socket 1 @
Magnet 1 E Snap Ring 6 @ @
@ ©
@
a

233



JFC AS4 Lever Clamp Cylinders

External Dimensions

e SD-S Basic e Locking e Release
F
L3 _L2 L1
I @y @ w ~§
_f o
L] - Y 3
T
§ g
ol 1 J <
B b m -
o L:! - L 4
Air
O Preparation
(FRL)
= =]
Pneumatic
Valves
* FB Head Flange e Locking e Release
F
L2, L1 G _
I £ Pneumatic
B K'ﬂ @}\\ K _§_= Cylinders
L g
UF - /AR g
TE [ -
4 e A
: H <| [
2-T = i
= va A=t LJ ﬁr‘.‘:ﬂ i Ko
Lid = EE a
& ; &
\ O
L > i ‘- i
§ ! iz =
SV TS I [
,9}/ Pneumat.ic
”’60, stroke A|B|C|D|E F |FB| S P1 T | N | X | EF | TF ACCESSONEs
bore
25 20 114 | 73 | 51 | 42 | 13 | 57 | 55 | 40 |M6XP1.0 | 28 |85 | 28 | 42 | 54
32 20 125 |82.5(54.5| 50 | 16 | 60 | 5.5 | 44 |MBXP1.0 | 34 | 9 | 34 | 48 | 58
40 25 132 | 92 | 61 |58.5| 16 | 63 | 6.6 | 52 |M8XP1.25| 40 | 10 | 40 | 58 | 68
50 30 149 | 104 | 68 |715| 22 | 70 | 9 | 62 |M8XP1.25| 48 | 10 | 40 | 66 | 82
63 35 158 | 119 | 77 |84.5| 22 | 70 | 9 | 75 |M8XP1.25| 60 | 11 | 50 | 78 | 96
I,
% | UF | a- | b-| L1 | L2 T L3 G
bore
25 68 | 4 | 81 | 14 [33.5|M5XP0.8 | 5 | M6XP1.0
32 72 | 1.7 |73.7| 17 | 30 |RC 1/8" 7 | M8XP1.25
40 84 | 1.4 |73.7| 20 | 29 |RC 1/8" 7 | M8XP1.25
50 102 | 2.4 |72.4| 24 | 30 |RC 1/4" 8 | M10XP1.5
63 116 | 1.9 |67.3| 30 | 24 | RC 1/4" 8 | M10XP1.5

234



JFC

NAS2 Swivel & Clamp Cylinders

NAS2 New Swivel And Clamp Cylinders

Order indication

«  This product is suitable for mass production parts machines
and MC accesories which help to improve production
efficiency

- Main function: When the cylinder is activated, the pressure
plate will rotate to the designed angle during the piston's
pressing downward and continue press down in a straight
line until the pressure plate clamps the workpiece

NAS2 H SD SR 40 90
Series Installation Turn Form Bore Swivel
Type Angle
New SD: Basic SR: Singlle Right 25:25mm | | standard 90°
Swivel & X . . i o
Clgmp Mgnifold Block SL: Singlle Left 32:32mm special 45
Cylinders | (withspeedReguiation) | | - pouple Right || 40:40mm | | special 60°
MS: Sensor
DL Double Left 50:50mm
FA: Flange
63:63mm
TB: Full Teeth
e M) 25 32 40 50 63
Shaft Diameter (mm) 14 16 16 20 20
Fluid Filter Compressed Air
Type Double Acting
Max. Working Pressure (kgf/cm?) 10
Working Pressure Area (kgf/cm?) 1~7
Swivel Angle 90° (0°, 45°, 60°)
Swivel Direction L (Left)/ R (Right)
Swivel Stroke (mm) 9 1 13
Pressure Stroke (mm) 13 15/30 17/34

235



JFC

NAS2 Swivel & Clamp Cylinders

units:kg
Shaft .
Bore | . meter Piston Pressure Working Pressure Area (kgf/cm?)
(mm) (mm) Area (cm?) % 3 4 5 6 7 8 9
25 14 3.4 6.8 10.2 13.6 17 20.4 23.8 27.2 30.6
32 16 6 12 18 24 30 36 42 48 54
40 16 10.5 2] 31.5 42 52.5 63 73.5 84 94.5
50 20 16.5 33 49.5 66 82.5 99 115.5 132 148.5
63 20 28 56 84 12 140 168 196 224 252
Air
Preparation
(FRL)
Weight
Pneumatic
units:g Valves
Type
Basic Manifold Block Sensor Flange Full Teeth
Bore (With Speed Regulation)
25S 0.3 - 0.4 - - Pneumatic
Cylinders
32s 0.7 0.6 0.7 0.6 0.9
32D 0.9 0.8 0.9 0.8 1.1
40S 0.9 0.8 0.9 0.8 1.1 .
Pneumatic
40D 1 1 1 1 1.3 SONASEIOn
50S 1.6 1.4 1.6 1.4 1.7
50D 1.8 1.6 1.8 1.6 1.9
63S 2.1 1.8 2.3 1.8 =
63D 2.3 2.0 25 2.0 -

236

Pneumatic
Accessories




JFC

Internal Structure And Parts Name

e SD Basic

NAS2 Swivel & Clamp Cylinders

Q} Item | Part Name Qty Item | Part Name Qty
(@ | Hexagon steel screw 1 (@ | Body 1
H:\ /C)\ £ @ | Platen 1 Cover O-Ring 1
.
b 7 . (® | piston Rod 1 @D | Pilot Pin O-Ring 1
1{;}1 ® | pustseal 1 (12 | Head Cover 1
{%}—— @ Piston Cover 1 @ Retaining Ring 1
[‘lL’]— @ ® | steelBall 2 Cylindrical Pin 2
@ Wear Ring 1 @ Spring Pin 1
] : Pilot Pin Rod 1
iy ©
AN
B C)
® i ®
= @
@ i O
] (: a
e MF Manifold Block (With Down Pressure Speed Regulation)
PN
ENN
\1 /
oD |
hd Al
<P 4
& D,
% S
’ ltem Part Name Qty Item | Part Name Qty
_,_@ @ Hexagon Steel Screw 1 @ | Pilot Pin O-Ring 1
_’—@ @ Platen 1 @3 | spring Pin 1
_,—@ ® Piston Rod 1 Retaining Ring 1
®_ @ @ Dust Seal 1 @ | cylindrical Pin 2
- 9 ® Cover 1 Cushion Screw 1
Cs [ I 10 ® Cover O-Ring 1 @ | cushion Nut 1
T I—® @ Piston Cover 1 Cushion O-Ring 1
4o L1 Steel Ball 2 Cushion O-Ring 1
@ ® Wear Ring 1 @) | cushion socket 1
Body 1 @) | spring 1
an Pilot Pin Rod 1 @ | check valve 1

237




JFC NAS2 swivel & Clamp Cylinders

Internal Structure And Parts Name

® MS Sensor

Item | Part Name Qty Iltem | Part Name Qty
(D | Hexagon Steel screw 1 ©® | Body 1
@ | Piaten 1 Cover O-Ring 1
® | Ppiston Rod 1 @) | PilotPin O-Ring 1
@ Dust Seal 1 @ Head Cover 1
® Piston Cover 1 @ Steel Ball 2
® Sensor 1 Cylindrical Pin 2
@ | wearRing 1 @9 | Retaining Ring 1
Pilot Pin Rod 1 Spring Pin 1 Alr
Preparation
(FRL)
Pneumatic
Valves
Pneumatic
Cylinders
Pneumatic
Connectors
([ FA F I CI n g e Item Part Naome Qty Item Part Name Qty
@ Hexagon Steel Screw 1 @ Pilot Pin Rod 1
@ | platen 1 Body 1
éI§ (® | piston Rod 1 @) Pilot Pin O-Ring 1
/ ® | pustseal 1 @ Spring Pin 1
A - (B | cover 1 @ Steel Ball 2
bd WY/ (® | covero-Ring 1 Cylindrical Pin 2 Pheumnatic
(@ | piston seal 1 ® Retaining Ring 1 Accessories
é\:z Wear Ring 1

7

@@ @
I
0L

238



JFC

NAS2 Swivel & Clamp Cylinders

Internal Structure And Parts Name

e TB Full Teeth

ltem Part Name Qty ltem Part Name Qty
L @ Hexagon Steel Screw 1 ©) Body 1
== S
yd \\\ ® Platen 1 Cover O-Ring 1
7 \
. \\\ ® Piston Rod 1 @) Pilot Pin O-Ring 1
f+\ ﬁ“ Fany)
EZ\S /R ® Dust Seal 1 (&) Head Cover 1
\ // @ Piston Cover 1 @ Retaining Ring 2
AN
““~\‘__ =7 @ Steel Ball 1 Cylindrical Pin 2
@ Wear Ring 1 @ Spring Pin 1
Pilot Pin Rod 1

=
i
© @i

7l

il

i

i

External Dimensions

e SD Basic
e S (Single Side)

N
-

4-0L

D
E1
o
D B>
—<C
AWM <
@l
2 I @
|
N |
O
g ®| M
N

¢ D (Double Side)

Clamping

Unclamping

0 @&

(L 1\
| 7
DN 4
0K 4-oL
[mN]
G2
B o
[a]
E2/] | I
|
i
[ - -
|®= M <<
Lo <
!
|
I =1
i®--|M
|

Taper1:10 (2.85°)

239




JFC

NAS2 Swivel & Clamp Cylinders

e MF Manifold Block ( With Down Pressure Speed Regulation)

e S (Single Side)

¢ D (Double Side)

D6, Wivel | Down | aq | a2 | A3 | B |N3|C |D1|D2| E1 |@E2| F|G1[G2|H @1 |J | K|@OLl M |N1|N2
bore stroke | stroke
25 | 9 13 | 89 |(105.9)| - |65 |39.5| 23 [15.9] - |M6x1.0 6 35| - | - | 35|38 30|46 |M5x0.8] 8 |16.5
15 [108| (128) | 127 | 78 | 45
32 | 11 28 | 19 | 19 [M8x1.25| 8 | 8 |50 |140| 9 | 46 | 50 | 40 [5.6| G1/8 [11.5 19
30 (138 (158) | 157 | 93 | 60 X
15 |108| (128) | 127 | 78 | 45
40 | 1 28| 19 | 19 [M8x1.25| 8 | 8 |55|140| 9 | 55| 60|48 |6.8| G1/8 | 14 | 19
30 [138| (158) | 157 | 93 | 60 X
17 [124|(150.4)|146.2| 90 | 54
1 1 |25.4|22.2| M10x1. 1 160 1 70 | 57 |6.8| G1/8 | 17 | 21
50 3 34 T1ss (184 4) 1802107 31 > |22 0x1.5/ 8 |10 |60 [160| 10 | 65 | 70| 57 |6.8 | G118
17 |124](150.4)[146.2| 90 | 54
1 1|25.4|22.2| M10x1. 10 |70 [160| 10 | 7 7 18 | 20 | 21
63 3 34 T1ssl(184.4) 1802107 71 > |25 o0x1.5/ 8 |10|70|160|10 | 78 | 83|67 | 9 | Gi8 | 20
Y
2 @ |a | K|loL| m [N1|N2
bore N2
25 | 35|38 |30 |46 M5x0.8| 8 |165
32 |46 |50 |40 |56/| G1/8 |11.5] 19
40 | 55|60 |48 |68 Gi/8 | 14 | 19
50 |65]|70 |57 68| c1/8 | 17 | 21
63 | 78|83 |67 | 9 | G | 20| 21

Air
Preparation
(G

Pneumatic
Valves

Pneumatic
Cylinders
= 0 R =
R @ 9 & SZCIN
AN\ | = - 7 - -
(& i e e S R s A m ]
Y S\ > V) T
a3 AR
L NG Lo - L N_Er e :
N 4- SN 4-0L Pneumatic
Q ] Connectors
oK 0OJ FCV Min.5
I | i |
F G1 [ |
o
— | — l D a
[a]
£1 © ? E2/ 5
|_
2,3\5:]( \E1 =
©
<
":(‘ B [o]] b Pneumatic
Dl 2 o Accessories
o @ |clamping
3 Unclamping HiY 1 o
mie © |Taper1:10 (2.85°) O-Ring
O-Ring
% swivel | down
’)760 A1 A2 A3 B (o3 D1 | D2 E1 @E2| F G1 | G2 H
bore Y | stroke | stroke
32 11 15 108 | (128) 127 | 78 22 19 19 |M8x1.25| 8 8 50 | 140 9
40 11 15 108 | (128) | 127 | 78 | 22 | 19 19 |M8x1.25| 8 8 55 | 140 | 9
50 13 17 124 | (150.4) (146.2| 90 | 25 |25.4|22.2 |M10x1.5| 8 10 | 60 | 160 | 10
63 13 17 124 | (150.4) (146.2| 90 25 [25.4(22.2 |M10x1.5| 8 10 70 [ 160 | 10
I,
Bore 0/ (7] J K | L | M |O-Ring
32 46 | 50 | 40 | 5.6 | 19 P7
40 55 | 60 | 48 | 6.8 | 23 P7
50 65 | 70 | 57 | 6.8 | 28 P9
63 78 | 83| 67| 9 | 32 P9

240



JFC

e MS Sensor

e S (Single Side)

NAS2 Swivel & Clamp Cylinders

¢ D (Double Side)

R~ @ wmw@ R = Vﬂﬁ
[ N 7 [ 7N R~ @ T
Y H T\ Y T ¥ i i )
o) \ 7
L% MJ A-®L L ™ & 4-0L ;xn// J
[ 4-0L
J
F . G G2
@ - Ly - TTHTT .~
ﬁ 5 jl 5 il 8
E1 2.99« E1 gog (_E1 e E2 =
&P g oDy D, @ |clamping o= 2
h» | | ~
o N 2 a Unclamping m<
M M Taper1:10 (2.85°) =
N NY
D25 O©32~ D63 032~ D63
Ky .
L, |l AM| A2 | A3 | B | c |Di|D2| E1 |@E2| F |G1|G2 | H
bore stroke
25 9 94 | (110.9) 70 | 60 |15.9 M6x1.0 6 | 35
32 11 113 (133) | 132 | 83 | 28 | 19 | 19 |msx1.25] 8 | 8 |50 |140] 9
40 11 113 (133) | 132 | 83 | 28 | 19 | 19 |msx1.25| 8 | 8 |55 |140]| 9
50 13 129 | (155.4) [151.2| 95 | 31 |25.4|22.2|m10x1.5] 8 | 10 | 60 | 160 | 10
63 13 129 | (155.4) [151.2| 95 | 31 |25.4|22.2|m10x1.5] 8 | 10 | 70 | 160 | 10
[y
%,
2%, | ol oL| M | N1[N2|N3
bore
25 35 46| M5x0.8| 8 |16.5|44.5
32 46 56|G1/8 |11.5] 19 | 50
40 55 6.8|G1/8 | 14 | 19 | 50
50 65 6.8|G1/8 | 17 | 21 | 59
63 78 9 [Gis |20 |21 59
e FA Flange
e S (Single Side) ¢ D (Double Side)
R=" @@ R =~ ® 9
|
o — N /s %
(<3N D @
L SN K 4-0L L RS N\4-oL
J

241




JFC NAS2 swivel & Clamp Cylinders

G2
F G1
5D 8
e
o
E2 -
E1 © »
Qeﬁ‘(j \E1 &
I-i :rl
T T Tl T €3
i i | | | | A2
I | -—|<C
<|
o
o
|®| |®| @ |clamping I I
Ll . Ll v Unclamping Q'Il‘l "M
M
[oTh] ©) |Taper1:10 (2.85°) Air
Preparation
(FRL)
"/,7 swivel | down
6o, Al | A2 | A3 | B |C1|D1|D2| E1 |GE2| F |G1|G2| H
bore / |stroke | stroke|
32 11 15 | 108 | 128 | 127 | 78 | 22 | 19 | 19 |[M8x1.25| 8 | 8 | 50 [140| 9
40 11 15 [ 108 | 128 | 127 | 78 | 22 | 19 | 19 |[M8x1.25| 8 | 8 | 55 | 140| 9 P“g::v::ic
50 13 17 | 124 |150.4 | 146.2| 90 | 25 [25.4|22.2|M10x1.5| 8 | 10 | 60 | 160 | 10
63 13 17 | 124 |150.4 | 146.2| 90 | 25 [25.4|22.2|M10x1.5| 8 | 10 | 70 | 160 | 10
5
6oy | P11 I | K oL M N | N3
bore Pneumatic
32 46 | 50 | 40 |@5.6-@9x5.5dp | PT1/8| 32 | 50 Cylinders
40 55 | 60 | 48 |26.8-210.5x6.5dp PT1/8 | 40 | 50
50 65 | 70 | 57 |@6.8-210.5x6.5dp PT1/8| 50 | 59
63 78 | 83 | 67 |@9-014x9dp PT1/8| 63 | 59
Pneumatic
Connectors
e TB Full Teeth
e S (Single Side) ¢ D (Double Side) ,
/L.J\
Rﬁ R~ /1 \
9 ~ { IW i ]
F. &1 G2
Pneumatic
| o 5 By Accessories
E1
2.‘7?;] NE1 |u_a E2 -
Lot m|
ol
5l 8 |,
<|< <=
- < <
- -
m
@ |clamping O
- ® ®
Unclamping hion
Y © |Taper1:10 (2.85°) N M
‘9/,) swivel | down
60, Al | A2 A3 | B |C2|D1|D2| E1 |@E2| F [G1|G2 | H
bore / |stroke | stroke
32 11 15 | 108 | 128 | 127 | 78 | 12 | 19 | 19 [M8x1.25| 8 | 8 | 50 |140 | 9
40 11 15 108 | 128 127 78 | 12 | 19 | 19 |[M8x1.25| 8 8 55 | 140 | 9
50 13 17 | 124 |150.4 | 146.2 | 90 | 15 |25.4|22.2|M10x1.5| 8 | 10 | 60 | 160 | 10
7
2
12 M N | T1x2P T2
o oy x2PCS | @
32 M50x1.5 | PT1/8 | 32 11 70
40 M55x1.5 | PT1/8 | 40 11 75
50 M65x1.5 | PT1/8 | 50 12 85

242



